Math Morning Work Week 28

Monday Mon. Worhspace Tuesday Tues. Worhspace
Solve. Compare using <,=,>. | 0.5 59
100
4x2= = 0.01
100
0.75 S
100
If you round my number +o The Smith family is A. 7 days
the nearest hundred, I'm 700. taking a 3-week B. 14 days
My tens digit is one more tion to E C. 21 davs
than my hundreds digit. vacation to Europe. P
My ones digit is 15 = 3. How many days will D. 10 days

The sum of my 3 digits is 18.
Who am I?

their vacation last?

3,234+3=

803,641-632,759=

4 | Todd found that an angle on | A. acute Round the nearest ten.

a tile that he cut measured B. right
48°. Which kind of angle is C. obtuse A. 179,590
the D. straight
angle Todd measured?
B. 599,999
5 2 _ 7
5- - 2-= Decompose — two ways.
6 6 10

(1 way should be sum of unit fractions)

Auont Moy miilks her Holstein cows twice a day. This morming

6| she got 3465 gallons of milk. This evening she got 380 gallons.
She sold &12 gallons to the local ice cream factory. How many
gallon of milk does she have left?




Wednesday Wed. Worhspace | Thursday Thurs. Worhspace
The_Juicfy Ergits soldC I?56_,427 Look at the fraction number line. What A 2 g2
copies of their new CD in its fraction i 9 10 5
first week. They sold 23,614 goes directy bl IS
CDs during the second week. o ', . ', ‘, PRI c?® plo
How many CDs did the band ST N 5 5
sell in its first two weeks? 0 1 2
5 .
5 5 5 5 5 i

I have 3 digits Complete the pattern
If | round to the nearest
hundred, | am 200.
Multiply my ones digit by 2 5,10,7,14,11,
and you get my tens digit.
Both my ones and tens digits
are even.

What’s the rule?
Who am I?
Roma is making 3 batches of A.4 Find the product.
cookies. She has to add 3/4 cup B.6
water to each batch. Her C.8 _
measuring cup holds 1/4 cup. D.9 64 x87 =
How many times must Roma '
measurei cup water to have
enough for all of the cookies?
Harold rounded 247,563 to | A hundred thousands Which of the following Al124918
247,600. To which place B. ten thousands lists all of the factorsof | B. 1,2, 3,6,9,18
did Harold round the C. thousands 18? C.2,36,9
number? D. hundreds D.1,3,5,9 18

What’s the value of the
underlined digit?

A. 1,759,412

What’s the place value
of the underlined digit?

B. 235,842

Find the sum or difference. Write each sum as

a mixed number with the fractional part less

than 1.
A 234 22=
6 6

B. 42— 1=
8 8

Peter has four horses.

Each one eats 4 pounds of oats, twice

a day. How many pounds of coats does he need to feed his
horses for 3 days?




